

THE GENERIC ANISOTROPY OF SIMPLICIAL 1-SPHERES

STAVROS ARGYRIOS PAPADAKIS AND VASILIKI PETROTOU

ABSTRACT. The concept of generic anisotropy of a simplicial sphere was introduced by the authors as a key ingredient for a second proof of McMullen's g -conjecture for simplicial spheres. In the present note we establish the generic anisotropy of all 1-dimensional simplicial spheres over an arbitrary field. We also prove that the determinant of the middle bilinear pairing of the generic Artinian reduction of the Stanley-Reisner ring determines the simplicial 1-sphere.

1. INTRODUCTION

The notion of generic anisotropy was introduced by the authors in [7], and used for the study of the Lefschetz properties of the general Artinian reduction of the Stanley-Reisner ring of simplicial spheres. As demonstrated in [2, 7], generic anisotropy implies the Strong Lefschetz property and Adiprasito's Hall-Laman relations and biased pairing property, which were defined in [1].

We recall the definition of generic anisotropy. Assume $d \geq 2$ is an integer and D is a simplicial sphere of dimension $d - 1$ with vertex set $\{1, \dots, m\}$. Assume k_1 is any field and denote by k the field of fractions of the polynomial ring

$$k_1[a_{i,j} : 1 \leq i \leq d, 1 \leq j \leq m].$$

We define the polynomial ring $R = k[x_1, \dots, x_m]$, where all the variables x_i have degree 1. We denote by $I_D \subset R$ the Stanley-Reisner ideal of D and we set $k[D] = R/I_D$. For $i = 1, \dots, d$, we set

$$f_i = \sum_{j=1}^m a_{i,j} x_j,$$

and define $A = k[D]/(f_1, \dots, f_d)$. Hence, A is the generic Artinian reduction of $k_1[D]$ in the sense of [7, Definition 2.2].

Definition 1.1. ([7, Definition 3.2]) We call D generically anisotropic over k_1 , if for all integers j with $1 \leq 2j \leq d$ and all nonzero elements $u \in A_j$ we have $u^2 \neq 0$.

The following is an important conjecture related to anisotropy.

Conjecture 1.2. (*Anisotropy conjecture*) If D is a simplicial sphere and k_1 is a field, then D is generically anisotropic over k_1 .

When the characteristic of k_1 is equal to 2 the conjecture is true by [7]. Unfortunately, establishing the conjecture when the characteristic is not equal to 2 seems a harder task. A first step in that direction is the following theorem, which is the main result of the present note and will be proven in Subsection 4.1.

Theorem 1.3. Assume D is a simplicial sphere of dimension 1 and k_1 is any field. Then D is generically anisotropic over k_1 .

We remark that under the characteristic 2 assumption, Adiprasito and the authors proved, in [2], anisotropy for cycles and pseudomanifolds. The same paper also established, in all characteristics, a weaker version of anisotropy.

2020 *Mathematics Subject Classification.* Primary 13F55; Secondary 05E40, 05E45, 11R58.

Key words and phrases. Simplicial spheres, Stanley-Reisner rings, Lefschetz properties, anisotropy.

Section 2 contains a specific form of Gauss elimination that we use. Section 3 recalls a well-known general method useful for proving that a polynomial is nonzero.

In Section 5, we study, with D a 1-dimensional simplicial sphere, the middle bilinear pairing of A , and establish that its determinant (with respect to an arbitrary basis) determines the set of facets of D . In Subsection 5.1, we conjecture that the analogous property is true for any odd dimensional simplicial sphere.

1.1. Notation. We will use the definitions of [3, Section 5.1] for the notions of simplicial complex, vertices, faces, facets and dimension of a simplicial complex, and the notions of Stanley-Reisner ideal (also known as face ideal) and Stanley-Reisner ring (also known as face ring) of a simplicial complex over a field. If $n \geq 1$ is an integer, a simplicial sphere of dimension n is a simplicial complex D of dimension n such that there exists a geometric realization of D , in the sense of [3, Definition 5.2.8], which is homeomorphic to the sphere S^n . An additional important general reference is [8].

2. A GENERAL PROPOSITION RELATED TO ELIMINATION

In this section we describe a specific form of Gauss elimination that is used in the present paper.

Assume R is a commutative ring with unit, and n, m, Z are positive integers with $n < m \leq Z$. Assume that, for $1 \leq j \leq m$, x_j is an element of R and that for $1 \leq i \leq n$ and $1 \leq j \leq Z$, $a_{i,j}$ is an element of R . We denote by M the $n \times Z$ matrix with (i, j) -entry equal to $a_{i,j}$.

Assume b_1, \dots, b_n are n integers, with $1 \leq b_i \leq Z$, for all i . We denote by $[b_1, \dots, b_n]$ the determinant of the $n \times n$ matrix, whose i -th column is equal to the b_i -th column of M . For $1 \leq i \leq n$, we set

$$f_i = \sum_{t=1}^m a_{i,t} x_t,$$

and denote by $I = (f_1, \dots, f_n)$ the ideal of R generated by the f_i .

Proposition 2.1. *Assume c_1, \dots, c_{n-1} are integers, with $1 \leq c_i \leq Z$ for all i . We have*

$$\sum_{t=1}^m [c_1, c_2, \dots, c_{n-1}, t] x_t \in I.$$

Proof. Denote by Q the $n \times (n-1)$ matrix, whose i -th column is the c_i -th column of M . For $1 \leq j \leq n$, we denote by Q_j the determinant of the submatrix of Q obtained by deleting the j -th row of Q . We claim that

$$\sum_{t=1}^m [c_1, c_2, \dots, c_{n-1}, t] x_t = \sum_{j=1}^n (-1)^{j+n} Q_j f_j.$$

Indeed, on the left hand side the coefficient of x_t is $[c_1, c_2, \dots, c_{n-1}, t]$, while on the right hand side the coefficient is equal to $\sum_{j=1}^n (-1)^{j+n} Q_j a_{j,t}$. The two quantities are equal, by developing the determinant $[c_1, c_2, \dots, c_{n-1}, t]$ using the last column. \square

3. A GENERAL TECHNIQUE FOR PROVING A POLYNOMIAL IS NONZERO

In this section we discuss a well-known general method which is useful for proving that certain sums of products of bracket polynomials are nonzero. We use it in the proof of Proposition 4.7.

Assume $m \geq 1$, k is a field and $R = k[x_i : 1 \leq i \leq m]$. We denote by \mathcal{A}_R the set of all monomials of R . In other words,

$$\mathcal{A}_R = \{x_1^{a_1} \cdots x_m^{a_m} : a_i \geq 0 \text{ for all } i\}.$$

Following [4, Section 15.2], a monomial order on R is a total order $>$ on \mathcal{A}_R such that if $u_1, u_2, w \in \mathcal{A}_R$ with $u_1 > u_2$ and $w \neq 1$, we then have $wu_1 > wu_2 > u_2$. In addition, by

the same reference, the lexicographic order on R with $x_1 > x_2 > \cdots > x_m$ is the total order $>$ on \mathcal{A}_R defined by $x_1^{a_1} \cdots x_m^{a_m} > x_1^{b_1} \cdots x_m^{b_m}$ if and only if $a_i > b_i$ for the first index i such that $a_i \neq b_i$. It is a monomial order on R .

Assume now $>$ is a monomial order on R . It induces the initial monomial map, $\text{in}_> : R \setminus \{0\} \rightarrow \mathcal{A}_R$, defined as follows. Assume $f \in R \setminus \{0\}$. Then, there exist (unique) $s > 0$, $g_1, \dots, g_s \in \mathcal{A}_R$ and $\lambda_1, \dots, \lambda_s \in k \setminus \{0\}$ such that

$$f = \sum_{i=1}^s \lambda_i g_i \quad \text{and} \quad g_1 > g_2 > g_3 > \cdots > g_s.$$

By definition, $\text{in}_>(f) = g_1$.

Remark 3.1. By the definition of a monomial ordering, we have

$$\text{in}_>(f_1 f_2) = (\text{in}_>(f_1))(\text{in}_>(f_2))$$

for all $f_1, f_2 \in R \setminus \{0\}$.

Moreover, by the definition of a monomial ordering we have the following proposition.

Proposition 3.2. *Assume $f_1, f_2, \dots, f_t \in R \setminus \{0\}$. Assume there exists a with $1 \leq a \leq t$ such that*

$$\text{in}_>(f_a) > \text{in}_>(f_b)$$

for all b with $1 \leq b \leq t$ and $b \neq a$. Then $\sum_{i=1}^t f_i \neq 0$ and $\text{in}_>(\sum_{i=1}^t f_i) = \text{in}_>(f_a)$.

Corollary 3.3. *Assume $f_1, f_2, \dots, f_t \in R \setminus \{0\}$ satisfy*

$$\text{in}_>(f_i) \neq \text{in}_>(f_j)$$

for all $1 \leq i, j \leq t$ with $i \neq j$. Then $\sum_{i=1}^t f_i \neq 0$.

Proof. Since $\text{in}_>(f_i) \neq \text{in}_>(f_j)$ for all $1 \leq i, j \leq t$ with $i \neq j$, there exists a unique integer a such that $1 \leq a \leq t$ and $\text{in}_>(f_a) > \text{in}_>(f_b)$ for all b with $1 \leq b \leq t$ and $b \neq a$. The result follows by Proposition 3.2. \square

4. ANISOTROPY IN DIMENSION 1

Assume k_1 is an arbitrary field, $m \geq 3$ and D is the m -gon, considered as a 1-dimensional simplicial complex with vertex set $\{1, \dots, m\}$ and consecutive vertices $1, 2, \dots, m$. We denote by S_{sp} the polynomial ring

$$S_{sp} = k_1[a_{i,j} : 1 \leq i \leq 2, 1 \leq j \leq m]$$

and by k the field of fractions of S_{sp} .

We define the polynomial ring $R = k[x_1, \dots, x_m]$. We denote by $I_D \subset R$ the Stanley-Reisner ideal of D , and set $k[D] = R/I_D$. For $1 \leq i \leq 2$, we set

$$f_i = \sum_{j=1}^m a_{i,j} x_j,$$

and define $A = k[D]/(f_1, f_2)$. Therefore, A is the generic Artinian reduction of $k_1[D]$ in the sense of [7, Definition 2.2]. We denote by $\pi : R \rightarrow A$ the natural quotient k -algebra homomorphism.

If $m \geq 4$ we have

$$I_D = (x_1 x_j : 3 \leq j \leq m-1) + (x_i x_j : 2 \leq i \leq m-2, i+2 \leq j \leq m),$$

while if $m = 3$, we have $I_D = (x_1 x_2 x_3)$.

For $1 \leq i, j \leq m$ we set $x_{(i,j)} = x_i x_j \in R$, and denote by $[i, j]$ the determinant of the 2×2 matrix with (i, j) -entry equal to $a_{i,j}$.

Proposition 4.1. *Assume*

$$\sigma_1 = (b, d_1), \quad \sigma_2 = (b, d_2),$$

are two ordered facets of D having a common element. We then have

$$(1) \quad [b, d_1]\pi(x_{\sigma_1}) = -[b, d_2]\pi(x_{\sigma_2}).$$

and

$$(2) \quad [b, d_2]\pi(x_b^2) = -[d_1, d_2]\pi(x_{\sigma_1}).$$

Proof. Assume $z = b$ or $z = d_2$. By Proposition 2.1, we have that

$$\sum_{j=1}^m [z, j]\pi(x_j) = 0.$$

Hence,

$$\sum_{j=1}^m [z, j]\pi(x_j x_b) = 0.$$

We have $[z, z] = 0$ and that σ_1, σ_2 are the only facets of D which contain $\{b\}$. If $z = b$, the only terms of the last sum that are nonzero are for $j = d_1$ and $j = d_2$, which proves Equation (1). If $z = d_2$, the only terms of the last sum that are nonzero are for $j = b$ and $j = d_1$, which proves Equation (2). \square

Remark 4.2. It is interesting to compare Proposition 4.1 with the results obtained by Lee in [6, Section 6].

It is clear that Proposition 4.1 implies that

$$[1, 2]\pi(x_1 x_2) = [i, i+1]\pi(x_i x_{i+1}) = [m, 1]\pi(x_m x_1)$$

for all $1 \leq i \leq m-1$. Since, by [3, Section 5], the vector space A_2 is 1-dimensional, it follows that $\pi(x_1 x_2) \neq 0$. Hence $\pi(x_1 x_2)$ is a basis of the 1-dimensional vector space A_2 , and we denote by $\deg : A_2 \rightarrow k$ the unique k -linear isomorphism such that $(\deg \circ \pi)([1, 2]x_1 x_2) = 1$.

Moreover, we define the symmetric bilinear map $\rho : A_1 \times A_1 \rightarrow k$ by

$$\rho(u, v) = \deg(uv)$$

for all $u, v \in A_1$.

4.1. The proof of Theorem 1.3. It is clear that in order to prove Theorem 1.3 it is enough to prove that $\rho(u, u) \neq 0$ whenever $0 \neq u \in A_1$. The following proposition is an important step in the direction of explicitly computing $\rho(u, u)$.

Proposition 4.3. *For $1 \leq i \leq m-1$, we have*

$$(\deg \circ \pi)(x_i x_{i+1}) = \frac{1}{[i, i+1]}.$$

Moreover, we have

$$(\deg \circ \pi)(x_1 x_m) = \frac{1}{[m, 1]}, \quad (\deg \circ \pi)(x_1^2) = -\frac{[m, 2]}{[m, 1][1, 2]}, \quad (\deg \circ \pi)(x_m^2) = -\frac{[m-1, 1]}{[m-1, m][m, 1]}$$

and

$$(\deg \circ \pi)(x_i^2) = -\frac{[i-1, i+1]}{[i-1, i][i, i+1]}$$

for $2 \leq i \leq m-1$.

Proof. All equalities follow immediately from Proposition 4.1. \square

The following proposition allows us to find a suitable base for A_1 .

Proposition 4.4. *We have $\dim_k A_1 = m-2$. If \mathcal{S} is any subset of $\{1, \dots, m\}$ of cardinality $m-2$, then the set $\{\pi(x_i) : i \in \mathcal{S}\}$ is a k -basis of A_1 .*

Proof. We denote by M the $2 \times m$ matrix with (i, j) -entry equal to $a_{i,j}$. The determinant of every 2×2 submatrix of M is a nonzero element of the field k . Since $A = k[D]/(f_1, f_2)$ and I_D is a homogeneous ideal with generators of degrees ≥ 2 , the result follows. \square

For $1 \leq i \leq m-2$, we set $e_i = \pi(x_{i+1})$. By Proposition 4.4, the finite sequence

$$e_1, e_2, \dots, e_{m-2}$$

is an ordered basis of A_1 .

We define a second basis of A_1 by using the Gram-Schmidt orthogonalization. We set $\tilde{e}_1 = e_1$, and inductively define

$$\tilde{e}_i = e_i + \frac{[1, i]}{[1, i+1]} \tilde{e}_{i-1},$$

for $2 \leq i \leq m-2$.

Proposition 4.5. *For all $1 \leq i \leq m-2$, we have*

$$(3) \quad \tilde{e}_i = \sum_{t=2}^{i+1} \frac{[1, t]}{[1, i+1]} \pi(x_t).$$

Proof. We prove Equation (3) using induction on i . For $i=1$ it is true by the definition of \tilde{e}_1 . Assume $1 \leq i \leq m-3$ and that Equation (3) is true for the value i . We have

$$\begin{aligned} \tilde{e}_{i+1} &= e_{i+1} + \frac{[1, i+1]}{[1, i+2]} \tilde{e}_i = \pi(x_{i+2}) + \frac{[1, i+1]}{[1, i+2]} \left(\sum_{t=2}^{i+1} \frac{[1, t]}{[1, i+1]} \pi(x_t) \right) \\ &= \pi(x_{i+2}) + \sum_{t=2}^{i+1} \frac{[1, t]}{[1, i+2]} \pi(x_t) = \sum_{t=2}^{i+2} \frac{[1, t]}{[1, i+2]} \pi(x_t). \end{aligned}$$

\square

Proposition 4.6. *For all $1 \leq i \leq m-2$, we have*

$$\rho(\tilde{e}_i, \tilde{e}_i) = -\frac{[1, i+2]}{[1, i+1][i+1, i+2]}.$$

Moreover, if $1 \leq j \leq m-2$ and $j \neq i$, we have

$$\rho(\tilde{e}_i, \tilde{e}_j) = 0.$$

Proof. Assume $1 \leq i \leq m-2$. We set $u = \sum_{t=2}^{i+1} [1, t] \pi(x_t)$. By Proposition 2.1,

$$\sum_{t=2}^m [1, t] \pi(x_t) = 0.$$

Hence, if $1 \leq r \leq i$, taking into account that $\pi(x_r x_t) = 0$ when $r+2 \leq t \leq m$, we get

$$(4) \quad u \pi(x_r) = 0.$$

Assume $1 \leq j < i$. Using Proposition 4.5, Equation (4) implies that $\rho(\tilde{e}_i, \tilde{e}_j) = 0$. Moreover, Equation (4) also implies that

$$\begin{aligned} \deg(u^2) &= \deg \left(u \left(\sum_{t=2}^{i+1} [1, t] \pi(x_t) \right) \right) = \deg \left([1, i+1] u \pi(x_{i+1}) \right) \\ &= \deg \left([1, i+1] [1, i] \pi(x_i x_{i+1}) + [1, i+1]^2 \pi(x_{i+1}^2) \right) \\ &= [1, i+1] \left(\frac{[1, i]}{[i, i+1]} - \frac{[1, i+1][i, i+2]}{[i, i+1][i+1, i+2]} \right) \\ &= [1, i+1] \frac{[1, i][i+1, i+2] - [1, i+1][i, i+2]}{[i, i+1][i+1, i+2]} \\ &= -[1, i+1] \frac{[1, i+2][i, i+1]}{[i, i+1][i+1, i+2]} = -[1, i+1] \frac{[1, i+2]}{[i+1, i+2]}, \end{aligned}$$

where we used Proposition 4.3 and the well-known Plücker identity

$$[a, b][c, d] - [a, c][b, d] + [a, d][b, c] = 0.$$

Since $\tilde{e}_i = u/[1, i + 1]$, this proves the formula for $\rho(\tilde{e}_i, \tilde{e}_i)$. \square

We set

$$L = \prod_{s=2}^{m-1} ([1, s][s, s + 1])$$

and, for $1 \leq t \leq m - 2$, define $L_t = L/([1, t + 1][t + 1, t + 2]) \in S_{sp}$.

Using Proposition 4.6, it is clear that to prove Theorem 1.3 it is enough to prove that, if $d_t \in k$ satisfy

$$\sum_{t=1}^{m-2} d_t^2 \frac{[1, t + 2]}{[1, t + 1][t + 1, t + 2]} = 0,$$

we then have $d_t = 0$ for all $1 \leq t \leq m - 2$. By clearing denominators, it is enough to prove the following proposition.

Proposition 4.7. *Assume $d_1, \dots, d_{m-2} \in S_{sp}$ satisfy*

$$(5) \quad \sum_{t=1}^{m-2} d_t^2 [1, t + 2] L_t = 0.$$

Then, we have $d_t = 0$, for all $1 \leq t \leq m - 2$.

Proof. We give to the polynomial ring S_{sp} the lexicographic ordering $>$ with

$$a_{1,1} > a_{1,2} > \dots > a_{1,m} > a_{2,1} > a_{2,2} > \dots > a_{2,m}.$$

Using Corollary 3.3, it is enough to prove that if i, j have the properties $1 \leq i < j \leq m - 2$, $d_i \neq 0$ and $d_j \neq 0$, we then have

$$(6) \quad \text{in}_>(d_i^2 [1, i + 2] L_i) \neq \text{in}_>(d_j^2 [1, j + 2] L_j).$$

Using the definitions of L_i and L_j and Remark 3.1, we have

$$\text{in}_>(d_i^2 [1, i + 2] L_i) = (\text{in}_>(d_i))^2 \cdot (a_{1,1})^{m-2} \cdot \prod_{s=1}^i a_{1,s} \cdot \prod_{s=i+2}^{m-1} a_{1,s} \cdot Q_i,$$

and

$$\text{in}_>(d_j^2 [1, j + 2] L_j) = (\text{in}_>(d_j))^2 \cdot (a_{1,1})^{m-2} \cdot \prod_{s=1}^j a_{1,s} \cdot \prod_{s=j+2}^{m-1} a_{1,s} \cdot Q_j,$$

where Q_i and Q_j are monomials in the variables $a_{2,1}, \dots, a_{2,m}$. Therefore, the variable $a_{1,j+1}$ appears in the monomial $\text{in}_>(d_i^2 [1, i + 2] L_i)$ with an odd power, and in the monomial $\text{in}_>(d_j^2 [1, j + 2] L_j)$ with an even power. Hence, Inequality (6) is true. \square

Example 4.8. Assume $m = 6$. Equation (5) becomes

$$d_1^2 [1, 3] L_1 + d_2^2 [1, 4] L_2 + d_3^2 [1, 5] L_3 + d_4^2 [1, 6] L_4 = 0,$$

where

$$L_1 = \frac{L}{[1, 2][2, 3]}, \quad L_2 = \frac{L}{[1, 3][3, 4]}, \quad L_3 = \frac{L}{[1, 4][4, 5]}, \quad L_4 = \frac{L}{[1, 5][5, 6]}$$

and

$$L = [1, 2][1, 3][1, 4][1, 5][2, 3][3, 4][4, 5][5, 6].$$

5. THE DETERMINANT OF ρ

We keep using the notations of Section 4. Moreover, we denote by N_m the $(m-2) \times (m-2)$ symmetric matrix, with (i, j) -entry equal to $\rho(\tilde{e}_i, \tilde{e}_j)$. We call N_m the matrix of ρ with respect to the ordered basis $\tilde{e}_1, \tilde{e}_2, \dots, \tilde{e}_{m-2}$.

Proposition 5.1. *We have*

$$\det(N_m) = (-1)^m \frac{[1, m]}{\prod_{i=1}^{m-1} [i, i+1]}.$$

Proof. The result follows immediately from Proposition 4.6. \square

Remark 5.2. Assume $1 \leq c < d \leq m$. It is well-known that $[c, d]$ is an irreducible element of S_{sp} . Hence, there exists an induced valuation map

$$\text{val}_{[c,d]} : k \setminus \{0\} \rightarrow \mathbb{Z}.$$

Recall that if $f, g \in S_{sp} \setminus \{0\}$, then $\text{val}_{[c,d]}(f)$ is the largest integer s such that $[c, d]^s$ divides f in S_{sp} , and

$$\text{val}_{[c,d]}(f/g) = \text{val}_{[c,d]}(f) - \text{val}_{[c,d]}(g).$$

Remark 5.3. Assume that h is any ordered basis of A_1 . We denote by H the matrix of ρ with respect to h . By the basic theory of bilinear forms, there exists an invertible matrix P with entries in k such that

$$H = P^t N_m P.$$

As a consequence, using Proposition 5.1,

$$\det(H) = (-1)^m (\det P)^2 \frac{[1, m]}{\prod_{i=1}^{m-1} [i, i+1]}.$$

Taking into account Remark 5.2, we conclude that we can recover the simplicial complex D from $\det(H)$, since the set of facets of D is exactly the set of ordered pairs (c, d) such that $1 \leq c < d \leq m$ and $\text{val}_{[c,d]}(\det(H))$ is an odd integer.

5.1. The Odd Multiplicity conjecture. Assume k_1 is an arbitrary field and E is a simplicial sphere of odd dimension $d-1 \geq 1$ and vertex set $\{1, \dots, m\}$. Assume $e = (e_1, \dots, e_d)$ is an ordered facet of E . We denote by k the field of fractions of the polynomial ring

$$S_{sp} = k_1[a_{i,j} : 1 \leq i \leq d, 1 \leq j \leq m].$$

We define the polynomial ring $R = k[x_1, \dots, x_m]$. We denote by $I_E \subset R$ the Stanley-Reisner ideal of E , and set $k[E] = R/I_E$. For $1 \leq i \leq d$, we set

$$f_i = \sum_{j=1}^m a_{i,j} x_j,$$

and define $A = k[E]/(f_1, \dots, f_d)$. Consequently, A is the generic Artinian reduction of $k_1[E]$ in the sense of [7, Definition 2.2]. We denote by $\pi : R \rightarrow A$ the natural quotient k -algebra homomorphism.

For a sequence $c = (c_1, \dots, c_d)$ of distinct integers with $1 \leq c_i \leq m$ for all i , we denote by $[c]$ the determinant of the $d \times d$ matrix with (i, j) -entry equal to a_{i,c_j} . It is well-known that $[c]$ is an irreducible element of the polynomial ring S_{sp} .

Arguing as in Section 4, there exists a unique k -linear isomorphism $\text{deg} : A_d \rightarrow k$ such that $(\text{deg} \circ \pi)([e]x_e) = 1$, where $x_e = \prod_{i=1}^d x_{e_i}$. We define the symmetric bilinear map $\rho : A_{d/2} \times A_{d/2} \rightarrow k$ by

$$\rho(u, v) = \text{deg}(uv)$$

for all $u, v \in A_{d/2}$. We assume that h is an ordered basis of $A_{d/2}$ and denote by H the matrix of ρ with respect to the basis h .

Remark 5.3 motivates the following conjecture.

Conjecture 5.4. (*Odd Multiplicity conjecture*) Assume $c = (c_1, \dots, c_d)$ is a sequence of integers with $1 \leq c_1 < c_2 < \dots < c_d \leq m$. We then have that $\text{val}_{[c]}(\det(H))$ is odd if and only if c is a facet of E .

ACKNOWLEDGEMENTS

We thank Karim Adiprasito and David Eisenbud for useful conversations. We benefited from experiments with the computer algebra program Macaulay2 [5]. This work is part of the Univ. of Ioannina Ph.D. thesis of V. P., financially supported by the Special Account for Research Funding (E.L.K.E.) of the University of Ioannina under the program with code number 82561 and title “Program of financial support for Ph.D. students and postdoctoral researchers”.

REFERENCES

- [1] K. ADIPRASITO, Combinatorial Lefschetz theorems beyond positivity, arXiv preprint, 2018, 76 pp., available at <https://arxiv.org/abs/1812.10454>.
- [2] K. ADIPRASITO, S. A. PAPADAKIS AND V. PETROTOU, Anisotropy, biased pairings, and the Lefschetz property for pseudomanifolds and cycles, arXiv preprint, 2021, 17 pp., available at arXiv:2101.07245v1
- [3] W. BRUNS AND J. HERZOG, Cohen-Macaulay rings. Cambridge Studies in Advanced Mathematics, 39. Cambridge University Press, Cambridge, 1993.
- [4] D. EISENBUD, Commutative algebra. With a view toward algebraic geometry. Graduate Texts in Mathematics, 150. Springer-Verlag, New York, 1995.
- [5] D. GRAYSON AND M. STILLMAN, Macaulay2, a software system for research in algebraic geometry, available at <http://www.math.uiuc.edu/Macaulay2/>
- [6] C. W. LEE, Generalized stress and motions. Polytopes: abstract, convex and computational (Scarborough, ON, 1993), 249–271, NATO Adv. Sci. Inst. Ser. C Math. Phys. Sci., 440, Kluwer Acad. Publ., Dordrecht, 1994.
- [7] S. A. PAPADAKIS AND V. PETROTOU, The characteristic 2 anisotropicity of simplicial spheres, arXiv preprint, 2020, 38 pp., available at arXiv:2012.09815v1
- [8] R. STANLEY, Combinatorics and commutative algebra, Second edition. Progress in Mathematics, 41. Birkhäuser, 1996.

STAVROS ARGYRIOS PAPADAKIS, DEPARTMENT OF MATHEMATICS, UNIVERSITY OF IOANNINA, IOANNINA, 45110, GREECE

Email address: `spapadak@uoi.gr`

VASILIKI PETROTOU, DEPARTMENT OF MATHEMATICS, UNIVERSITY OF IOANNINA, IOANNINA, 45110, GREECE

Email address: `v.petrotou@uoi.gr`